MCQ Cardiovascular 2

1. Which is true of dilated cardiomyopathy?
a. 80% are due to infective causes.

b. Chest pain in these patients is usually due to atherosclerosis of coronary arteries.

c. The ECG is almost always abnormal with LV hypertrophy, & L atrial enlargement being the most common abnormalities.

d. Use of digoxin has been shown to improve survival rates.

e. ECHO usually shows decreased diastolic and systolic volumes.

2. Which is INCORRECT of hypertrophic cardiomyopathy?

a. 50% is familial with autosomal dominant inheritance.

b. Younger patients tend to have more severe symptoms.

c. The characteristic systolic murmur decreases with passive leg raising.

d. Syncope is a worrying symptom as often precedes sudden cardiac death.

e. Patients should be advised to avoid vigorous exercise.
3. Which of the following is not a cause of restrictive cardiomyopathy?
a. Amyloidosis

b. Scleroderma

c. Carcinoid heart disease

d. Tuberculosis

e. Sarcoidosis

4. A 28 year old man presents with fever, CHF and an episode of SVT. You suspect myocarditis. Which is true regarding the investigation of this man?
a. Global wall motion abnormalities on ECHO are characteristic of myocarditis.

b. A positive Trop I rules out myocarditis.

c. Nuclear Med scanning of heart is not helpful in the diagnosis of myocarditis.

d. The gold standard for diagnosis of myocarditis is endomyocardial biopsy.

e. The ESR is always elevated in myocarditis.
5. Which of the following is not a feature of pericarditis?

a. Sharp chest pain worse on lying supine.

b. Pericardial friction rub

c. Dysphagia due to irritation of oesophagus.

d. Tachypnoea

e. Sinus tachycardia.

6. Which is true of cardiac tamponade?
a. The most common symptom of gradual tamponade is dizziness.
b. Clinical signs of pericardial effusion are easy to illicit.

c. During needle pericardiocentesis at least 50-100 mls needs to be removed to have an effect on hemodynamics.

d. CPR is ineffective during arrest.

e. The pericardial effusion needs to be at least 100 mls to see an enlarged cardiac silhouette on CXR

7. Which is true of ischaemic chest pain?
a. 6% of patient with AMI present with pleuritic chest pain.

b. Up to 10% of all AMI’s are silent.

c. Men are more likely to have atypical presentations.

d. Chest wall tenderness is an exclusion for AMI.

e. Of all patients presenting with AMI 75% will have diagnostic changes on initial ECG. (I.e. ST elevation).
8. Which is true of cardiac markers?

a. Troponin I is more sensitive then Trop T at 10 hrs.

b. Trop I has sensitivity reaching 90% at 6hrs for AMI.

c. Trop I and T normalize on day 7.

d. Myoglobin is more specific than CKMB in AMI.

e. Size of troponin rise is not a predictor for mortality.
9. Which is true of right ventricular infarct?
a. Usually due to occlusion of dominant circumflex artery.

b. ST elevations of 1mm in V5R specific for right vent infarct.

c. There is a high risk of AV block.

d. Approx 20% will present with some hemodynamic compromise.

e. Isolated RV infarction is fairly common.

10. Which is true of complications of AMI?

a. Complete heart block in the setting of anterior AMI has a higher mortality than CHB in inferior MI.

b. Early VT in AMI is an indicator of poor prognosis.
c. Appox 40% of patients present with some degree of CHF in AMI.

d. There is a 50% mortality rate if the patient present in cardiogenic shock.

e. Free wall rupture usually occurs within the first 12 hours of AMI and is often fatal.

11. A 30 yr old man presents with crushing chest pain, with ECG criteria for anterior AMI. He volunteers that he uses cocaine on a regular basis. Which is true?
a. AMI’s secondary to cocaine only occur in chronic users due to accelerated atherosclerosis.

b. The one year prognosis is more favourable in cocaine users who suffer AMI compared with the general population who suffer AMI.

c. Thrombolysis is contraindicated.

d. He does not require evaluation of his coronary arteries.
e. The ECG is as sensitive and specific for AMI as in non-cocaine users.

12. Which statement is INCORRECT of fibrinolytics used in AMI?
a. TPA has a higher risk of intracerebral haemorrhage compared with streptokinase.

b. ISIS -2 trial was a four arm trial comparing SK and aspirin alone and in combination and placebo and showed reduced mortality with combination SK and aspirin.
c. O.2% of patients receiving streptokinase has anaphylaxis.

d. TPA may be advantageous over strep in patients under 75 years presenting within 4 hrs with ant AMI.

e. GUSTO 2b trial compared TPA and angioplasty and showed that TPA reduced mortality greater than angioplasty if presenting after 4 hrs of onset of symptoms.
13. Which is true of antiplatelet use in acute coronary syndromes?

a. Aspirin used alone is as efficacious as strep used alone in AMI as shown in the ISIS-2 trial.
b. Aspirin has little effect in non Q wave MI.

c. Tirofiban has been shown in the PRISM plus trial to efficacious in patients not undergoing PTCA.

d. Clopidagrel was shown in the CURE trial to offer no advantage over aspirin alone in patients not undergoing PTCA.

e. Ticlopidine is an alternative to aspirin as it is a safe drug to use long term with no harmful side effects.

14. Which of the following is correct regarding the treatment of AMI?
a. Nitrates offer advantage in reducing O2 demand through decreased venous return and especially helpful in inferior AMI’s.

b. Beta blockers have been shown to reduce mortality in AMI due to coronary artery vasospasm.

c. ACE inhibitors have consistently been shown to reduce mortality if given to patients during or soon after AMI.

d. Calcium channel blockers while not shown to decrease mortality in AMI have no harmful effects in the acute setting.

e. The MIRACL study clearly demonstrated an advantage of using statins early in AMI, reducing mortality rates.

15. Which is INCORRECT of APO?
a. Pancreatitis is a cause of non cardiogenic APO

b. Morphine has not shown to be effective in the treatment.

c. Use of CPAP will improve oxygenation through increasing functional residual capacity.

d. CPAP will not alter length of stay or mortality but will reduce the number of patients requiring intubation.

e. Frusemide has been shown in studies to improve outcome in APO.

16. Regarding valvular disease which is correct?

a. Mitral incompetence can present as massive haemoptysis.

b. Mitral valve prolapse is the most common heart lesion in the community affecting 3% of the population.

c. Angina in patients with aortic stenosis is almost never due to coronary artery disease.
d. Corrigan’s sign is often present in aortic stenosis.

e. Critical aortic stenosis requiring surgery is when the valve area is less than 1.0 cm2.

17. Regarding endocarditis which is INCORRECT?

a. Valve leaflets are most susceptible secondary to large surface area.

b. Haemodialysis or peritoneal dialysis is a risk factor.

c. Acute endocarditis is usually more severe and affects young people with normal valves.

d. Aortic and mitral valves are most commonly effected except for in IV drug users.

e. Staph aureus and strep pneumoniae are the most common organisms effecting tricuspid and pulmonary valves.

18. Which is not an absolute indication for surgery in endocarditis?
a. Severe CHF as a result of valvular lesion.

b. Vegetations greater than 10 cm.

c. Uncontrolled infection despite optimal management.

d. Relapse after optimal therapy in prosthetic valve patient.

e. Unstable prosthesis.

19. Regarding prophylaxis against endocarditis which is true?

a. Although widely accepted practice prophylaxis has not shown to be effective.

b. HOCM is a low risk lesion not requiring prophylaxis.

c. Patients with high risk valve lesions require prophylaxis for IDC insertion even in the absence of UTI.

d. Prior endocarditis is not a recognized indication for prophylaxis.

e. Oral antibiotics are inadequate in prophylaxis and should be replaced with IV.
20. Which is the most common presenting symptom in PE?

a. Dyspnea

b. Pleuritic chest pain

c. Anxiety

d. Cough

e. Haemoptysis

21. Which statement is correct regarding PE?

a. The CXR is abnormal in 50% of cases of PE.

b. Wester mark sign is a semicircular opacity that is pleural based.

c. The latex agglutination test for D-dimer is more sensitive than the ELISA test.

d. 40-50% of the pulmonary arterial circulation must be occluded for someone to present with massive PE i.e. hypotensive and hypoxic.

e. Pulmonary angiography is 100 % sensitive for PE and is the gold standard.

22. From results gathered for the PIOPED study which of he following probabilities matches VQ scan result.
a. High probability – 90% chance of PE

b. Low probability – 15-30% chance of PE

c. Intermediate – 50% chance of PE

d. Normal scan – 0-5% chance of PE

e. None of the above is correct.

23. Which is true regarding treatment of PE?

a. LMW heparin has been shown to be as effective as unfractionated heparin.

b. Thrombolytics have been shown to reduce mortality in massive PE.

c. Streptokinase appears to be the most effective thrombolytic agent.

d. The dose of streptokinase is 1500 000 units over 60 mins.

e. Surgical embolectomy without bypass facilities has a mortality rate of 90%.

24. Which of the following scenarios requires anticoagulation for treatment of PE without further investigation i.e USS or angiography?
a. Intermediate probability scan with low clinical probability.

b. High prob VQ with low clinical probability.

c. Intermediate prob VQ with intermediate clinical probability.

d. Low prob VQ with intermediate clinical probability and positive leg USS.

e. Low  prob VQ with high clinical probability.

25. Which of the following is incorrect regarding hypertensive encephalopathy?
a. A diastolic BP of greater than 130 mmHg is pathognomic.

b. Is an emergency as left untreated can lead to coma and death.

c. Treatment should aim at reducing  MAP by 25% in 2-4hrs.

d. Clonidine should be avoided in the treatment.

e. Sodium nitroprusside at does 0.5-10 micrograms/Kg/min is the treatment of choice.

26. Which statement if correct regarding the management of hypertensive emergencies?

a. Treatment of severe hypertension in the setting of stroke is standard practice.

b. Pre-eclampsia can be treated with IV hydralazine and oral losarten.

c. Sodium nitroprusside alone is adequate treatment for HT in the setting of aortic dissection.

d. Beta blockers should be avoided in acute renal insufficiency.

e. Trimethaphan is used as first line in aortic dissection and has relatively minor side effect profile.
27. Which is true of aortic dissections?
a. Male: Female ratio = 1:1

b. The site of intimal tear is in the ascending aorta in 35% of cases.

c. Stanford Type B dissections are distal to the left common carotid.

d. A difference in BP of greater than 15mmHg between arms is seen in 40-50% of cases.

e. Aortography remains the gold standard as sensitivity reaches 100%.

28. Regarding treatment and prognosis of aortic dissections which is true?

a. Stanford type A dissections have mortality of 100% without surgery.

b. An indication for surgery in Stanford Type B dissection is Marfan’s syndrome.

c. Ongoing chest pain with normal BP is not an indication for antihypertensives.

d. Percutaneous self expanding stents and intraluminal grafts are only indicated in Type B dissections.

e. Presence of pericardial tamponade in ED is an indication for Needle pericardiocentesis.

29. Which is INCORRECT regarding abdominal aortic aneurysms?
a. 98% are infra-renal.

b. Risk of rupture outweighs elective surgical risk when greater than 5 cm in otherwise healthy people.

c. Cullen’s sign signifies retroperitoneal haematoma, when associated with ruptured AAA.

d. Saccular aneurysms have a higher risk of rupture than Fusiform.

e. Presence of COAD is a risk factor for rupture.

30. Which statement regarding the ischaemic limb is true?
a. Chronic critical limb ischaemia is defined as claudication occurring with minimal exertion.

b. Thrombosis of pre-existing atheroma is the commonest cause of acute limb ischaemia.

c. Irreversible changes start to occur at 4 hrs post acute limb ischaemia.

d. Systemic thrombolysis has been shown to be as effective as intra-arterial thrombolysis in acute limb ischaemia.

e. An arteriogram should be performed on all patients prior to embolectomy.

31. Which is not a risk factor for DVT?
a. Old age

b. Blood grp A

c. Protein C deficiency
d. Diabetes

e. Factor XII deficiency.

32. Which is true of DVT?

a. Symptomatic DVT will be in popliteal or more proximal veins 80% of time.

b. Wells criteria states that patients with a low probability score of 0 or lower have an incidence of DVT of 5-10%.

c. D-dimer sensitivity is increased if DVT is present for greater than one week.

d. Anticoagulation will decrease the risk of post phlebitic syndrome.
e. Below knee DVTs have a 5% chance of propagation to the deep system so require surveillance scans or anticoagulation.

33. A 55 year old woman who is a cardiac transplant patient presents to ED. Which statement about this woman is true?

a. Atropine is the first line agent for use of symptomatic bradycardia.

b. Reduction in limb lead voltages on ECG is fairly specific for rejection.

c. CMV infection is unlikely to occur if previous exposure prior to transplant.

d. She will have to stay on corticosteroids for life.

e. Chronic rejection will usually present as CHF secondary to AMI or sudden death.
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